INTEGER WORD PROBLEMS

	1. [image: ] A stunt plane ended a maneuver 60 metres above the top of a skyscraper, after starting 20 meters below the top of that same skyscraper. Which integer represents the stunt plane’s change in altitude? 





	2. [image: ] According to his bank statement, Quincy spent $2000 on a state-of-the-art refrigerator. If Quincy’s bank account started out with a balance of $-150, which integer represents the final balance?





	3. [image: ] From 700 meters above sea level, Lia took off in her helicopter and ascended 200 meters. What is Lia’s altitude now?





	4. [image: ] At the golf tournament, the leaderboard shows Kim’s score as 3 on the front nine holes & -2 on the back nine holes of the course. What was Kim’s total score for the rounds?






	5. [image: ] The average temperatures in Calgary is 22°C in July & -11°C in January. Find the range of temperatures in Calgary.








	6. [image: ] While hiking, Carmen went up 500 metres. If the trail head started at 150 metres above sea level what is her elevation now?






	7. [image: ] A birdwatcher on a cliff saw eagle 60 metres above him. Later, he spotted the eagle 35 metres below him. What was the eagle’s change in altitude?






	8. [image: ] In a trivia competition, Brett had a score of 200 points. Then he answered a few questions from the automobiles category and ended up with a grand total of 500 points. What did Brett score on the automobiles questions?





	9. [image: ] A roller coaster begins at 90 feet above ground level. Then it descends 105 feet. Find the height of the coaster after the first descent?





	10.  [image: ] A team gained 5 yards on their first play of the game. Then they lost 6 yards and took a 10 yard penalty on their second play. Find the total change in yardage.









INTEGER WORD PROBLEMS: ANSWERS

	1. [image: ] A stunt plane ended a maneuver 60 metres above the top of a skyscraper, after starting 20 meters below the top of that same skyscraper. Which integer represents the stunt plane’s change in altitude? 

60m – (-20)m
          = 60m + 20m 
= 80m 


	2. [image: ] According to his bank statement, Quincy spent $2000 on a state-of-the-art refrigerator. If Quincy’s bank account started out with a balance of $-150, which integer represents the final balance?

$(-150) - $2000
[bookmark: _GoBack]= $-150 + ($-2000) 
= $(-2150)


	3. [image: ] From 700 meters above sea level, Lia took off in her helicopter and ascended 200 meters. What is Lia’s altitude now?

700m + 200m 
= 900 meters


	4. [image: ] At the golf tournament, the leaderboard shows Kim’s score as 3 on the front nine holes & -2 on the back nine holes of the course. What was Kim’s total score for the rounds?

3 + (-2) = 1


	5. [image: ] The average temperatures in Calgary is 22°C in July & -11°C in January. Find the range of temperatures in Calgary.

22°C – (-11°C)
= 22°C + 11°C 
= 33°C





	6. [image: ] While hiking, Carmen went up 500 metres. If the trail head started at 150 metres above sea level what is her elevation now?

150m + 500m 
= 650m 


	7. [image: ] A birdwatcher on a cliff saw eagle 60 metres above him. Later, he spotted the eagle 35 metres below him. What was the eagle’s change in altitude?

       60m - (–35m) 
       60m + 35m
       = 95m


	8. [image: ] In a trivia competition, Brett had a score of 200 points. Then he answered a few questions from the automobiles category and ended up with a grand total of 500 points. What did Brett score on the automobiles questions?

500 points – 200 points  or       200 + x = 500
= 300 points                      200 + x - 200 = 500 - 200
                                                            x = 300


	9. [image: ] A roller coaster begins at 90 feet above ground level. Then it descends 105 feet. Find the height of the coaster after the first descent?

90 ft + (-105 ft) 
= -15 feet


	10.  [image: ] A team gained 5 yards on their first play of the game. Then they lost 6 yards and took a 10 yard penalty on their second play. Find the total change in yardage.

5 yards + (-6) yards + (-10) yards
= -1 yards + (-10) yards
= -11 yards
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